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1. (10%) This machine is made up of six independent components, and the number represents the failure

rate of the component. Find the reliability probability of this machine.
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(Note: You are being asked to calculate to four decimal places)

2. (20%) The density function for the triangular distribution is given by
f@)=y+1-x for x-1<y<x and
fO)=-y+14x for x<ysxt|]

Find the mean absolute deviation E[|Y — x|].

3. (20%) Suppose X and Y has joint density:
f{x9) =

Find the correlation coefficient of x and y.
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4. (10%) A @FER ¢ Yi=Po+ PiXu+ PoXoi+ PsXsi+ei» € &% £ 0 1=1,2,3,.,n &%
REA A% o AE3H 8 RBETP a9 4E A (D)4 95%1% #B K T i A8 2 (H,: B1> 0, t-value = 2.06) °
{8 X, & VIF (variance inflation factor) /% 9 - 35F] : &R VIF A 4 > (B, 89453118 95%1E 48
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5. bRDEATHIPIARRER L EBSN(ANOVASFBR T HEAMESER LR - REL

B3 (1-100 ) Bt T :

BE 1 . 3
7 JE
A 87 86 38
B 90 91 92
b 85 87 89
D 91 89 87
E 92 94 93

HA

(1) (10%) ko RIASEMA A B A RHE » AT HE &3 (null hypothesis) #2 #f 31 45 3

(alternative hypothesis) & 4T ?

(2) (10%) 4o RIAGERURTRE M HEEFHE » THRE 0 E BERRYE TERA

L

(3) (20%) #HRB(1)EQ) 4 B & R (5% E K ) - (F(4,9)=3.63; F(5, 9) =3.48; F(4, 10) = 3.48;

F(5, 10) =3.33)
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